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Negative Exponent 
  

 

Remember the rule for negative integer exponents:   

For negative rational exponents when ,     

   
Notice how the exponent becomes positive on the reciprocal of the base. 
 

 

 

 

 

    

   
TRY: 
 

 Rewrite as a radical and evaluate. 
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One applies the rule in the same way (using the reciprocal of the base) if  is a rational expression as in:   
 
 

 

 
  

    

 
 

TRY: 
 

 Rewrite as a radical and evaluate. 
 
 

       

 
 
 
 
 
 
 

     

 
 
 
 
 
 
 
 
 

When powers are raised to negative powers, it may be easier to work with the exponents first: 
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